2x—4
2x-4=(x+1)(2x-4)-5(x+1)
2%x—4=2x - 2x—4-5x-5
0=2x"-9x-5
0=(2x+1){x-3)

{x+1]{2x—4)[ﬁ]:(:x+1)(2x—4}(1—i}

1ST 9 WeeksS
€QUATIONS

10-9-15, 5th period
by David, Bekah,and
Jennifer




THE OBJECTIVE OF THIS PROJECT IS TO SHOW THAT WE KINOW HOW TO WRITE
€QUATIONS ,PROPERTIECS OF REAL NUMBER ,ANND PROPERTY OF CQUALITY.

IN MATHEMATICS, Al €QUATION IS ANl €QUALITY CONTAINING ONe OR MORE
VARIABLES. SOLVING THE €QUATION CONSISTS OF DETERMINING WHICH VALUES OF
THE VARIABLES INAKE THE CQUALITY TRUE. IN THIS SITUATION, VARIABLES ARC
ALSO Kinowi AS UNKNOWINS AND THE VALUES WHICH SATISFY THE €QUALITY ARE
KNOWI AS SOLUTIONS.



1

§X=2/5 .1/4
Tl
- ©
X= 2/20 5 2

X=1/10

SOLVING CQUATIONS

1HAD THE €QUATION 4X=2/5.FIRST I DID THE
IMULTIPLICATIVE INVERSE AND DIVIDED BY 4.
THeNn, 1 TImesSeD 2/5 BY 1/4 .AFTER THAT, |
GOT 2/20 .FINALLY, I DIVIDED 2/20 BY 2 AID
GOT MY ANSWER WHICH IS X=1/10.



2.

X-1/4 =2/5 4 8/20 1

+1/4 +1/4 5 +5/20 13, 20

X=13/20 -13
X=17 7
13

1HAD THEe €QUATION X-1/4 =2/5.
FIRST 1 US€D THE ADDITION PROPERTY
OF CQUALITY AND ADDED 1/4TO 2/5
BUT SINCe THEY DIDI'T HAVE THE SAIe
DOMINATOR 1 HAD TO MULTIPLY BY THE
DOMINATORS SO THEY WOULD IMATCH.
AFTCR THAT | FINALLY GOT 1 HAD TO
DIVIDE BECAUSE | COULDIN'T GET A
WHOLE #. AFTCR THAT | FINALLY GOT
my ANSWER X=1AND 7/13THS



15-%4|x=20 first that we have an equation we sub-
-15 415 tract the 15 with the 20. Then that we have
0-% x=5H the fraction and variable . we want to keep flip it
3/2*%4 x=5/1*3/2 change it. we multiply 3/2 with %5 and the same
15/2=71/2 on the otherside 3/2*5/1 andweget7 %.



q.

5-2(x-3)=-23
5-2x-6 | =-23
taking

+5 +5
-2x-6 |=-18
+6 +6
-2x _ =-6

-2 -2
x=3

My equation was 5-2(x-3)=-23. The first
step was to use distributive property, by

2 and multiplying it by x and 3. Then you have

to add five because you have to do the opposite.



writing equation
lois has 45 toy airplane in his collection,and bob has 21.If luis buys 6 more new toy air
planes each month and bob buy 2 new each month ,after how many months will lois and
bob have the same number of airplanes?

45+6¢c=21+4c

-4 -4c
45+¥2c[=21
-45 -45
2c= -24
c= -12



